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9. Irt¢ r ur [h lsr:m e a rea A t )f the Wc l o ro f a circ le uf ra dius r

: ;...,: X°
O"","": tcircle .If S is the

length o fthe

f 0 r m ed b ya centra l a ngleo f H Uegrces is A=,° ,.
$ :n'S V h 10. Trueu r fh l se .· Fo r c rrc ularmo tio n O n a circ le o f ra d i u sr.

then
5° Q

linea r speed equa ls a ngula r speed divide dby r.

l!
#oblet

r\s
I I-22. Dra t\ea ch c m g l e .

12.6 0 ° 13.135 "
\lt . 47T

II· 4
V

14.-12015.450 16 .5 40 °

ln? roble
n " 23-28 , co m· crf euclt ungle to a decit}la ! ind eg rees.T« n u n d yo ttr (lrrswer to two decitna i pl{lccs.

40 '10 '25
24.6 1° 42' 21 25.1"2'3"26.73* 40'40'27.9"9'9"28.98° 22' 45 °

}a ?
ro bltn»

29-34 c o t l\e rt ettch ungte to D° M' s to nn R o tmd yo u r a nswer Io the nea rest seco nd.

40 .32
30 .6 1.24° 31.18 .25 5 ° 32.29 .411* 33.19 .9 9 ° 34.44.0 1°

in» o bient535-46 . co nvert e({(· h a ngie indegrees to rctdittns. E xp re ss yo t lr a n sw€ r a s a m tiltipie o l T.36.12037.2409
\.T S W 38.330*39. -60*40. -30 °

U. 1,42.270*43. -135*44. -225*45. -9 0 Q
46 . -18 0 °

irtho blem s
47-58, co nvert e «clt a ngle in rad ian sto degrees.

48 . —— 49 . -5T""3:. .: -"3 al . ". ¢rr

H,=54. —— 5S . --56. -I T 5 7. -58.3rr]212264
Inho blerm 59-6 4, co nv €rt ea c/I a ng/e in degrees to rad i tin s.E xp re ss yo u T a ns wer indecillmt jo rm, ro un d edIo two d ec imalp l a c e s.

q. 17' 6 0 .73° \61. -40*62.-51*63.125*64.350°
Inhobltms 6 5-70, co nvert ea ch a ngle in rad ian sfo degreek E xp re ss yo n r a n swe r in decima llo nn, ro unded [o two d e c i m l p l a c e s.3.1466.0.7567,268.369.6.3270.m

\n Pro blem s 71-78, s deno tes the length o f the a rc o l a c i rc leo f ra dltts r subt € ndt· d by the centra l a ngle e. F i n d the missing q u a n -
Ro und a rtswers Io th re e decima l pla ce&

r i, r=I U meters, e--rad ian, S= '! I *. r-U l ec t, O -LId uml lb , S-:

71

e=:..D i ... .-2feet. '-? 74. e=1,a d I... .-6 cent imeters. '-?
11 r=5 miles, S-3 m ile s, e=? 76 . r-6 m e te rs, S-8 m e te rs, e=?
n, r.

T i n c h e s, e =30° , S-? 78. r-3m e te rs, e =120° , S-?

l"ro bltms 79-86 , A deno tm tile a rea o fth e se c to r o f a circle o fro d imr p rm e d by the centra l a ngle e. F i n d the milsing qua ntt-
{i Ro uqd a m e n to if zree decima lpla ces

r.,..,'. Ers ,'e=1 ra 80. r=6feet, e=2rad ian s, A=T
U-2 ra dia n, A=?

m
1,

, A-2 sq tm re feet, r-? 8 2. e=1 ra dia n, A=6 squa re cent imeters, r-?
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8 4. r-6 m e te rs, A=8 squa re
meters, $ * 1

8. \. r-5 miles, A=3 squa re
miles, O-? 86 . r-3 metefs, O =1200, A. ?

I:
:
l,-T.

:, d
d a m we r' " £"'":

n"
9o

9 1. Min uteHan do f a Cl o c k Th emin uteha nd o f a clo ck is 6

in c h eslo ng. H o w fa r dnesi the t ip o f the min uteha nd m o ve

in15 min utes?H o w fa r do es il n l o ve in25 min utes' !

9 2. M o ve m e n t o f a P en d ul l tm A pendulum swings thre)ugh

a n a ngle o t 20° ea ch se c o n d .I f the pendulum is 40 in c h es
lo ng, h o w ra r do es its t ip m o ve ea ch se c o n d ?

93. Are a uf a Secto r Findthe a rea o f the secto r o f a circle
o E rad ius4 m e te rsfo rm e d by a n a ngle o t 45 ° . Ro un dthe

a n swe r to two d ec imalp l a c e s.
94. Are a o f a Secto r Findthe a rea u f the secto r o f a circle

o f rad ius3 c e n ti m c te rsfo rm e d by a n a ngle o f 6 W. Ro un d
the an swerto {wo d ec imalp l a c e s.

95. Wa tering a I .a wn A wa ter sprinkle rspra ys wa ter o ve r
a dista nce o f 30 feet wh i l e ! · o \a t ing thro ugh a n a ngle o f
135° .

What_.'?
96 . DeslgninB a Wa te r Sprinkle· An engineer is a sked to

design a wa te r sprinkle rtha t ri l l c o ve r a a eld o f 100sq n areya rd s tha t i s in the s hw o t a secto r o f a circ le o frad iu s 50y.Arm m ro u g h wha t a ngle sh m l d the sprm e rro ta te?

9 7, Mo tio n o n a CIrcle An o bject is travel in garo un da cir-c l e with a rm i u s o f 5 mimeters_1f in 20 se c o n d s amtral a ngle o f
3

ra dia n i s swe p t o u t,wh a t is the a n g u m
speed o f tbe o b j e c t?Wh a t Ls its linea r speed?

98. M o l l m * m a m e l e An o bject i s
tra veling a ro u n d a c i r -c lewj m a ra dius o f 2 m e te rs. U In20 seem the

o bject

tra ve l s 5 m e te rs, wh a t i s i ts a n g u]a r Speedh
ea r sp eed

W. Bicycle
Wh e e l s me dia meter o f each

WM d i
c ]e i s 26 i n c h m I f yo u a re

tra veling at a W
miles p e r h o u r o n this b i q c l e . T h ro u g hhm m
l utio n sp e r m i n u te are the wh e e b

mmbg?

10 0 . Ca r Wi \e e l s me ra d i u s o f ea ch wheel o f a m

inche s.If th e wh e e l s a re turning a t the ra k 0 3w
ti o n s p er seco nd, h o w fa st i s the ca r mo* h
yo u r a n swe r in inche sp er se c o n d a nd in M6 p

l n P ro h lems10 J-J0 4, the la t itude a lo ca t io n L & &
b rmed b y a ra y d rawn » o +n the c e n te r¢ Ea nhto Mew
an d a ra y d ra wn P o m the c en ter¢ Ea rth to LSa M:

101. D man m b e twe e n Ci « e s Mm pus*..._:nd\t '
' " » e n M e m p h i s (35*9' no rth ta t i(u d e )=L'
lea ns (29 *5 7' n o rth m hude A m a t

IF



116. Do,°LI prefer to measure angles using degrees
O: rad i .

117. What is 1 radian?

118. Which angle has the largermeasure: 1 degree or 1
rad j .

an? Or are they equal'?

119. Explain the difference between linear speed and an .

gular speed.

120. For a circle of radius r, a central angle of 0 degrees sub .IT

tends an arc whose length S is
S=180 r0.

Discuss

whether this is a true or false statement. Give
reaso n s

to defend your position.

121. Discuss why ships and airplanes use nautical miles to

measure distance. Explain the difference between a

naut ical mile and a statute mile.

122. Investigate the way that speed bicycles work. In p artie-

ular, explain the differencesand similaritiesbetween 5 ·

speed and 9-speed derailleurs. Be sure to include a

discussion of linear speedand angular speed.


